60 kg B wvhk

188 R AR R MR EXSS ] 188 FEEK
AR OB 1 9 ik BEM
FWERAS §T(7-0,7-0) 3 7 PP(2-0,0-3) WREEEAS
wA BE 2 10 A1 BB
EEXE PP(3-1,0-1) 1" 13 PO(0-1,0-3) BLXE
JIF &A 3 1 R HE
EtxE PP(1-0,0-2,1-0) 4| 8 PP(2-0,0-40-3) BAKEAS
B IEFD 4 P00-10-6 12 X% {Eth
IEEN P POI-0.1-0) 15 | 16 PP(2-03-2) FRAE
#A Ft 5 13l EA
LiEF PO(0-1,0-3) 5 9 PO(7-0=1;50,2-0) BEREBXE
il = 6 14 B& RK
wENKXE PP(2-00-44-0) 12 HEXE
=1 —— 15 #K BX
AEXEAF PO(0-1,0-1) 6| 1 PO(1-0,1-0) BAXERE
INR BEHE 8 16 &)l FEKRER
HRAE 10 PO(0-1,0-2) BAKXE
17 EB #
2 VT(6-0=1:41F3-0=1:59) FEXE
18 BHF Bt
HEXE
BEMEES BEMES
1EE REH StEREH 1EE
w\A BIE 2 1 R RE
EHAS PO(0-6144,0-3) 18| BAREXS
A A3 —— 7 Pot-030)
LS PR
#l = 6 n o eotoro 10 B RER
BENKE BLKE
13 thE £
BRBEAY
B4 K& =24

1 X5 Hin RIERE

2 AR A EBAE

3 N 1EA E+fERE

3 R EE BAKEKRE

5 fJITRy HENIKE

5 E =5 BREXE

7 ate B fELKE

8 WA &g EBAE




